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1 |PASQUINI DARIO VT | 101 | SI 2 5 5 0 5 | 600 | 427 | 1,4052 1
2 |VINCI STEFANO VT | 805 | SI 1 4 4 2 2 | 688 | 522 | 1,3180 0,5
3 |ORTENZI ROBERTO VI | 61 | Sl 2 4 4 2 2 | 710 | 636 | 1,1164 1
4 |CORRIDONI ANGELO VI | 61 | Sl 2 3 3 2 1 | 579 | 515 | 1,1243 1
5 ' MOCINI LUCA VI | 41 | Sl 2 3 3 2 1 | 511 | 316 1,6171 1
6 |SENSI RUGGERO VI | 41 | Sl 2 3 3 2 1 | 578 | 544 | 1,0625 1
7 |MICARELLI ADRIANO VI | 41 | Sl 2 2 2 2 0 | 436 | 275 | 1,5855 1
8 MENCARONI FRANCESCO VT | 41 | Sl 2 2 2 2 0 | 392 | 349 |1,1232 1
9 |QUAMI ALESSANDRO VI | 21 | sl 2 1 1 2 -1 | 290 | 240 | 1,2083 1
10 |MAGLIO MARIO SALVATORE VI | 21 | sl 2 0 0 2 2 | 127 | 240 | 05292 1
11 |GINESTRA ANTONIO VT | 205 | SI 1 1 1 2 -1 | 307 | 296 | 1,0372 0,5
12 |BORGHETTI VALDIMIRO VT | 205 | SI 1 1 1 2 -1 | 230 | 311 | 0,7395 0,5




2 O
CLASSIFICA S ., = g 8

. GENERALE
S SECONDA 2 £ % = g ¢ 8§ £ 2 5 8 & 8
O GIOCATORI o _

1 PASQUINI DARIO VT 201 2 10 10 2 8 1296 1055 1,2284 0 1 200
2 ORTENZI ROBERTO VT 121 2 7 7 4 3 1149 1078 1,0659 0 1 120
3 MOCINI LUCA VT 101 2 7 7 4 3 1073 826 | 1,2990 0 1 100
4 QUAMI ALESSANDRO VT 101 2 5 5 3 2 861 653 1,3185 0 1 100
5 CORRIDONI ANGELO VT 86 2 4 4 4 0 723 755 0,9576 5 1 80
6 MICARELLI ADRIANO VT 81 2 5 5 4 1 936 810 1,1556 0 1 80
7 MENCARONI FRANCESCO VT 81 2 5 5 4 1 789 781 11,0102 0 1 80
8 SENSIRUGGERO VT 81 2 5 5 4 1 849 870 0,9759 0 1 80
9 VINCI STEFANO VT 80,5 1 4 4 2 2 688 522 1,3180 0 0,5 80
10 MAGLIO MARIO SALVATORE VT 61 2 2 2 4 -2 427 547 0,7806 0 1 60
11 FABBRO PIERO VT 25,5 1 1 1 2 -1 190 240 0,7917 5 0,5 20
12 GINESTRA ANTONIO VT 20,5 1 1 1 2 -1 307 296 11,0372 0 0,5 20
13 FRAUSILLI MASSIMO VT 20,5 1 1 1 2 -1 194 240 0,8083 0 0,5 20
14 BORGHETTI VALDIMIRO VT 20,5 1 1 1 2 -1 230 311 0,7395 0 0,5 20
15 BIANCUCCI FRANCESCO VT 20,5 1 0 0 2 -2 142 240 0,5917 0 0,5 20




